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IBPS RRB Clerk Prelims 2024 Memory Based Paper 10.Aug.2024-

2nd Shift

Directions (1-5): Study the following information carefully and answer the given questions:

Eight persons-R, S, T, U, V, W, X and Y sitin a circular shaped table and face inside but not necessarily in the same
order.

W sits opposite to U. Y sits second to the right of U. R sits opposite to S. Y does not sit opposite to T and V. R is one
of the neighbour of U. T is not an immediate neighbour of W. T does not sit third to the right of W.

et s &7 samgde sreaae ifong si fag sy weit F s &S

AMSATEH-R,S, T, U, V, W, X 3T Y TF FATHIT TS U< HEL T AT [T Fileh 96 &, TIq STET Al 1% SHI /7 H 93 Bl
W UFRATa I8l Y, UFaE AR @ S W IST gl R, SHFRATOa T gl TR VE Raia Y Il S5T 81 R, U
TEMHAT H A UH S | T, W FT Mhedq TSl 921 & | T, W o &7 371 T 16 #1992 T2 937 5

Q1. Four of the following five pairs are in the same group, which among the following pair does not belong
to that group?

FafRT e R A TR s & T # & RetfRa A a-ar gasa T d d&fa i 82
(a) Rand S/ R3fT S

(b) Wand U/ W ST U

(c)Vand T/ V3T T

(d) Uand X/ U 3T X

(e) Yand X/ Y 3T X

Q2. Who among the following person sits immediate left of W?
fFRefafea ® & fa-ar=aer W St ard da17?

(@A R

(b)Vv

(S

(d) None of these/Z#H | &I Aal

(e)Y

Q3. Which among following pair of persons are immediate neighbours?
Freforfea # & safxeat 1 wi=-a1 0 fReeaq =it 22

(@) Tand Y/ T3IXY

(b) Sand X/ S 3T X

(c) Yand W/ Y T W

(d)Uand V/U iRV

(e) Vand S/ VTS
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Q4. S sits third to the leftof _____.

S, H Al AR A ST A ST ||
(@ Uu

T

(agw

(dVv

(e) X

Q5. Who among the following person sits third to the left of one who sits immediate right of W?

FRaferfea & & sa-ar safte W & a3 45 =i & a8 4 fra s w s ?
Y
(b)S
(T
(Y
(e)V

Directions (6-10): Study the following Alphanumeric series carefully and answer the questions given
below.

FReferferd st SEeT 7 eagE® steaae HIFog i A= fag 1w i & ST aifem)
D52G6HI79K7W6M2Q4E53R47U8YMNI

Q6. What is the sum of all the even numbers in the given series?
& 7S s § a3ff qu Fearsit T AT FHAT 2

(a) 20

(b) 22

() 30

(d) 32

(e) None of these/Z7H & &S AG!

Q7. How many such numbers are there in the given series, each of which is immediately preceded and
immediately followed by a letter?

< gEar # T rat geard €, e & wolw & St agel s} Stk 9Te UE e y?
(a) One/ T=

(b) Two/ &

(c) Three/ T

(d) Four/ =X

(e) More than Five/ 1= & e

Q8. Which of the following is the tenth element from the right end?

Faferfea & & Fi9-a7 77 T8 SR A @9 T 82
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(@Q
(b) 5
(0K
(dU
(e)3

Q9. If we remove all the numbers, then which among the following letter is sixth from the left end?
afs g0 gt d=amsi it geT &, A1 Referfed § & $19-97 s a1 S & 3T gim?

(@ w

(b)H

(K

(d)I

(e)M

Q10. Which among the following element is exactly between K and 3?
FeaffeTdaam-arTa KR 3 F w7 §?

(aM

(b) 2

(c) None of these/ZaH H TS Al

(d) 4

(e) E

Q11. In the number ‘52786435’, how many pairs of the digits have the same number between them (both
forward and backward direction) in the number series?

HEqT ‘52786435’ |, i1 % & fohaa 7 § forash = (s i 1= 1 fRermeit #) St €t deard § foraet dean
HGAT § I o1 gl 82

(a) Four/ =¥

(b) Two/ &T

(c) Five/ 9=

(d) Three/ 1=

(e) More than five/ af= & e

Directions (12-16): Study the following information carefully and answer the given questions:

Six persons- E, F, G, H, K and L live in a three-floor building (but not necessarily in the same order). The ground
floor is numbered as 1, the floor just above it is numbered as 2 and so on. Each floor has 2 flats in it i.e., Flat X and
Flat Y. Flat X of floor 2 is immediately above flat X of floor 1 and immediately below flat X of Floor 3. Flat Y of
Floor 2 is immediately above flat Y of floor 1 and immediately below flat Y of Floor 3. Flat X is exactly to the west
of Flat Y.

As many floors above H as below L. Both H and L live in different named flat and different numbered floor. One
floor gap is there between F and E. No one lives to the west of G. H lives immediately above G in the same named
flat. No one lives below E.
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Fafefaa ST w1 samgEs sreaee e i g oy & s e

g Ah - E, F, G, H, K 3T L 9 "ot aTelt U THA § (AR STel Aol 1o <6l /7 H) W@ gl Aaa Hl 16 ®T H
TR TR T3 8, T8k St HOT aTelt HiSrer 7 2 3 &7 H HHiThd (3647 747 § i 3T avg oy ff 45t 7 #waifha
TR 79T 81 e WiRre U% 2 TRele ST Fele X 3T el Y 81 HIrer 2 97 wre X, Wit 1 % Tele X o 3T ST 3l /isre
3 % T X o S A 1§ 2 FT 92 Y, et 13 e Y o $e 307 Y 6ier 3 % i Y & S A 81 TIE X, T
Y % 2 afT # B

H % < foraet /15t 8, L 3 == o7 Ia«t &7 9ot 81 H S L ST SToT-37T ATH a7l A 37 STT-3TRT FHTF Aol
AT 9% Tgd €1 F 3T E & = v 9i5ret 7 sia¥ g1 G % 92w § 1 921 Tar 21 H, G % 3T 39T T80 777 a7 Tl

H Tgdr g1 E F 1= #1S 781 @ar gl

Q12. Who among the following person lives immediately above L in the same named flat?
Frefiea & & F9-a7 7fn L ¥ 319 SUC 9919 T 919 FHe 3 @ar g7

(@) F

(b) Either F or G/ AT aT F AT G

(0K
(d)G
(e) None of these/ZH & FIs AT

Q13. Four of the following five are in the same group, who among the following does not belong to that
group?

Feforfed ofs & @ 9 o & aqg ¥ §, Raffag & & = s 99qg 4 9&5feq 751 827

(A H

(b) F

() E
(K

(e)L

Q14. What is the direction of F with respect to G?
GH I H F Ay RarFam 8?

(a) North/ 3<X

(b) South/ Zferor

(c) North-East / 3T%-78

(d) West/ afzre

(e) North- West/ ITZ-qf%H

Q15. As many floors below F as above .

F % = foraeit wifort €, ot & wioret F FU A
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(@K
(b) G
(0 H
(d)E
(e) None of these/Z7H & FIE AT

Q16. Who among the following person lives on same floor as G?
et & @ s-ar safe SHt wioe = @ar g e /e 9 6 ®ar g2

(a) L
(b) F

() E
(d) K

(e) None of these /7% & FI< A5l

Directions (17-19): Study the following information carefully and answer the given questions:

A person started walking in east direction. He walked 8m and reached at point A. From Point A he turned left and
walked 6m and reached at point B. Now he turned right and walked 12m and reached at point C. From Point C he
turned his right and walked 18m and reached at point D. Finally, he turned his right and walked 14m and reached
at point E.

Referiaa ST &1 sa\gEs® sreaae Hfong oK R T w3 & Sa< aiog|

U SAT<h qF Q9T H FT 4 FLqT gl 98 8 Hied Tadl & 3 f6g A T 9g=9ar gl {65 A & 9 970 q=a7T ¢ 37 6 Hiex
FAqT g TAT fog B 9T Tg=AT g1 379 9g IT0 JEqT g ¥ 12 Hiex Faar g a7 &g C 9% ag=ar g1 &g ¢ & 7g o719+ 310
HEAT & 31T 18 Hiex AAaT ¢ a7 &g D 9% Tg=aT g 3(d H, ag I IS A JESAT § 377 14 Hie< FdT g a97 [9g E T
AT €]

Q17. In which direction is point E with respect to the starting point?

T fig ¥ e § g E e e d &2

(a) North-East/ ?ﬂ'{ﬁ

(b) North-West/ 3a¢-af2ra

(c) South-East/ ?{f@fﬂT‘iﬁg

(d) South-West/ Zferor-afzre

(e) West/ qf&rH

Q18. If point W is 2m east of point E, then what is the shortest distance between Point W and Point B?
f fiig W, fifg E¥ (F # 2 fiex 1 g8t 1 &, 8 fig W ol g B 197 = o6 et 37

(a) 10m/10 HTex

(b) 12m/12 #Hiex

(c) 16m/16 Hiex

(d) 18m/18 #iex

(e) 24m/24 HTex
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Q19. Which among the following point is to the south-east of Point A?
fifg A ¥ aferor.q & RreforRe & & stv-ar Rig 27

(a) Point E/ g E

(b) Point ¢/ &g C

(c) Point D/ &g D

(d) Point B/ §g B

(e) None of these/Za% & FI< A5l

Q20. If we take first, second, fifth and sixth letter of the world “ABOLISH”. Find how many meaningful
words will be formed by using letters only once. If no such word is formed mark your answer X.

I g9 9152 “ABOLISH” T U8, ST, TT9aT 3 ST ST&T< | qT AT hiToTQ o & &l Fael Th A STIRT FHh
Forae aTeie ersq 917 I VET FE 9168 TE1 a97aT § a9 ST H X F €9 F sifepq fifsrw

(a) Two/ ¥

(b) One/T®

(c) Three/ fi=

(d) Four/ =X

(e) X

Directions (21-25): Study the following three-letter five-word based series carefully and answer the
questions given below:

Raferiaa fF e am oie el I raTRa SE@dT HT eATagde AeaI HIrorg e A= I 17 vt & I g
CAT JAW GUN NAP TOY

Q21. If the positions of the first and last letter of each word are interchanged, then how many meaningful
words will be formed?

T AT 168 F T 3T AW STETX o TATH HI TLEIL T&H (AT ST, AT Foha=r qrele ok aer?
(a) None/ &1 &1

(b) One/ TH

(c) Two/ &

(d) Three/ 1=

(e) More than three/ &1+ & e

Q22. If the last letter of each word is replaced by “R” then how many meaningful words will be formed?

7T 7AF a8 F AT s & “R” § wiaemiod < g Sy v fhae ansfe oss a9
(a) Four/ =X

(b) One/t=
(c) Three/ T

(d) Two/ &T
(e) None/ &< gl
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Q23. If all the words are arranged in the order as they appear in dictionary from the left end, then which
among the following word will be fourth from the right end?

I vt TR Y T4 FIX & I FH § FGiedd AT SITg ST o6 F sreaehier § a8, a1 Aeforfea # & ®iq-a1 a5
I B F AAT GI?

(a) CAT

(b) NAP

(c) GUN

(d) JAW

(e) TOY

Q24. If each consonant is changed to its succeeding letter in the alphabetical series and each

vowel is changed to its opposite letter according English Alphabetical Series, then how many words
contain at least one vowel?

T TAF ST HT FUSHT FUHTAT H@AT & ATHT IHb ST AT F T2 [T AT AR AT &L HT FASH G0 HTAT
HGAT & AATL ST [ATUT T F T QAT AT, AT Fohaw 1t § 7 § 7 Toh @ gHT?

(a) None/ &1 &1
(b) One/Tt=
(c) Two/ &

(d) Three/ i
(e) Four/ 9m¥

Q25. How many letters are there between the first letter of the second word from the left end and second
letter of third word from the right end according to the alphabetical order?

FUTHTAT HH & JTHT A0 G H Y M5 & Tget FAL A Y G F ATEX 168 6 A T & A1 fohad AL 3?2
(a) 16

(b) 11

(c) 22

(d) 19

(e) 10

Q26. In the number ‘412576893’, if all the even digits are added by 1 and all the odd digits are subtracted
by 1, then arrange the digits in ascending order from left then which among the following digits will be
sixth from the right end?

AT ‘412576893 H, afx o+t 7 Hi § 1 g fear 9w i it fww o=t A & 1 wrer R s, {6 st v /g
T AL w9 /At R s, Refafed § & s19-a1 o 70 S a1 gem?

(@) 5

(b) 6

(c) 4

(d)7

(e)8

Directions (27-29): In each question below, some statements are given followed by some conclusions.
You have to take the given statements to be true, even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions definitely follows
from the given statements, disregarding commonly known facts. Choose the appropriate answer:
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i fRT T e W § s e S ST a1 s e Ry ) syt fRu g e i e AT g, W g gdara
=t & e wefta gia 8wt Aot & afe sik fee aa fifsre fr fag o fRreest & @ Fia-ar e ad@ma a=ai 5
TS Hd g T T FAT 7 AT T F SATH01 FaT 5| IF=a ST FT 999 h g

Q27. Statements:

Only a few Grey are Yellow.

All Yellow are White.

Some Pink are White.

Conclusions:

I. All Grey are Yellow is a possibility.
[I. Some White are Grey.

EREH

FA TG U, TAT 8

Y 7T, =gTE Bl

%% i, =rEe 8l

Ao

L &Y I F 7T I AT FEITEAT )

L% =gTee, T 2

(a) Only conclusion I follows/ Faer fAehT | FAHI AT g

(b) Only conclusion II follows/ Fae fAHT 11 FAHLT H_LAT g

(c) Either conclusion I or II follows/ T aT fAesd [ AT 11 AT KAl g
(d) Neither conclusion I nor II follows/ T @7 fAehd [ 7 & 11 0T FAT &
(e) Both conclusions I and II follow/ At [ = 11 =T H@HTUTW%’

Q28. Statements:

All Rings are Chains.

No Chains are Silver.

Some Diamond are not Rings.
Conclusions:

I. Some Silver can be Rings.
II. No Diamond are Chains.

FA:
T+t fr, 39 8

F1E 3, Fear T2t g1

Fa e, i €
Ao

1. % e, fr grasd g1
I 7S TTIHE, A9 74l gl
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(a) Only conclusion I follows/ Fae AT [ STLHTOT FLAT &

(b) Only conclusion II follows/ Fae T I1 ST FIAT 5

(c) Either conclusion I or II follows/ IT AT fAeat [ 3T I SIE0T F¥dT §

(d) Neither conclusion I nor II follows/ T @7 e [ 7 & 11 0T FdT &
(e) Both conclusions I and II follow/ fAeh [ 3% 11 F1=1 ST@TUTER'?{%

Q29. Statements:

Some House are Huts.

Only a few House are Palace.
Conclusions:

I. Some House are not Palace.
I1. All Huts can be Palace.

HAT:
% 2199, B2 &

Fa T gTed, Tord gl

R

1. %3 ETSH, T T2 &)

11 TT g2, 9T g1 Thd 2l

(a) Only conclusion I follows/ Faer fehT | ?ﬂTjFITUTEh_{_clT%’

(b) Only conclusion II follows/ Fae fAHT 11 FAHL LT g

(c) Either conclusion I or II follows/ T aT fAesd [ AT 11 AL KAl &

(d) Neither conclusion I nor II follows/ 7 TT e [ 7 &1 11 SIHY0T F¥aT &
(e) Both conclusions I and II follow/ fAet [ 3= 11 <141 STELIT FL =

Q30. In a certain code “GIANT” is coded as “IGCLV” and “FIBRE” is coded as “HGDPG”, then what will be
the code for the word “DRIVE"?

% fAf3a Fe & “GIANT” & “IGCLV” 3iX “FIBRE” %7 “HGDPG” % &9 # Feag a1 7T &, A7 “DRIVE” 91 + forw
e RTRM?

(a) FPKTC

(b) FPJTF

(c) FQKTF

(d) FPKTG

(e) FPKTN

Directions (31-35): Study the following information carefully and answer the questions given below:
Seven persons - A, B, C, D, E, F and G sit in a linear row and face north, but not necessarily in the same order.

A is an immediate neighbour of D. B sits at one of the ends of the row. The number of persons sit to the right of C
is one more than the number of persons sit to the left of B. Two persons sit between B and D. More than two
persons sit between A and F. E sits third to the left of G.
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R ST w1 samgEss sregae e st A= g e st & s o)

AqTT =R - A, B, C, D, E, F 3% G U Ik afxe & 39 Y 3 @ ek % 8, I3 9T Al 1o 36l 70 & 45 2

A, D &7 fAshea® T=THT 1 B Ufh % fFeT UF S 92 33T €1 C 3 1 Y 9% =yixpat i 5T, B F a8 37 35 =af=pat it
HEAT F U ATerF g1 B 1% D 1 a7 =A<F 98 §1 A 3% F & =1 &7 7 arfers =317 9% 81 E, G F a1 e 16y 2 1
FT I

Q31. What is the position of F with respect to D?
D % ATaeT § F %[ €419 T 8?

(a) Third to the left/ a2 3 qoT
(b) Fourth to the right/ 2T 3T =TT
(c) Fourth to the left/ aTs 3T 37T
(d) Third to the right/ a2 ¥ =T
() Second to the right/ a7 3T &I

Q32. How many persons sit between G and B?

G X BF I fraa AR A5 &2
(a) Five/ f=

(b) One/u=

(c) Three/ =

(d) Two/ &

(e) Four/ 91X

Q33. As many persons sit to the left of A as sit to the right of
AFIE ATITA G ARAAS & forae F AL ATCAS
(@G

(b) F

(c)D

(A E

(e) None of these/T7H | s A8l

Q34. Who among the following persons sits third to the left of the person who sits second from the right
end?

e & & f9-a7r =1Re T3 S & @ e 9= S5 =R F 98 ¥ s S\ St g?

(a) B

(b) E

(c)C

(d) A

(e)D
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Q35. If B is related to A and in the same way G is related to F, then who among the following persons is
related to D?

Ifd B, A & €49 g S T TFR G, F & Gaf9a g, A Mg # G a-ar e DA d&fga g ?
(@cC
(b) E

(A F
(dA

(e) None of these/Za% & FI< A5l

Directions (36-37): In these questions, relationships between different elements are shown in
the statements. The statements are followed by two conclusions. Study the conclusions based on the
given statements and select the appropriate answer:

T WA, FAAT A AT gt & S 9y T TG g1 FAAT H 912 Q¥ e 7w 7§ R T wEEt F = )
et &1 sreaae FIT i S ST &1 999 SNy

Q36.Statement: M>N=0<P<R;S<T=U>V=P>X
Conclusions:

LN<T

I.LR>U

FIT:M=>2N=0<P<R;S<T=U>V=P>X

IGLAE
I.LN<T
II. R>U

(a) Only conclusion I is true./ Fa<t fAtwd [ 7 &

(b) Only conclusion Il is true./ Fae fAeFT [ T g

(c) Either conclusion I or II is true./ aT A Ay [ AT 1 T ¢

(d) Neither conclusion I nor II is true./ ¥ T fAeFT [T ET 1 T &
(e) Both conclusions I and II are true./ fAht [ 3f¥ 1 S191 &I &

Q37.Statement: A<B=2C=F>E<D<G;IsL=J<F<K
Conclusions:

LB>1

II.I=B

FYT:A<B2C=F>E<D<GI<sL=]J<F<K

fArene:
.B>1
II.I=B

(a) Only conclusion I is true./ Fa« Aewd [ T &

(b) Only conclusion Il is true./ Fae AFT [1 T g

(c) Either conclusion I or Il is true./ AT AT MY [ AT T ¢

(d) Neither conclusion I nor Il is true./ T a1 e [T T 1 TF &
(e) Both conclusions I and II are true./ Feht [ ¥ 11 T4 T &
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Directions (38-40): Study the following information carefully and answer the questions given below:

Six persons ], K, L, M, N and O are comparing their weights, but not necessarily in the same order. No two persons
are of the same weight. Weight of M is heavier than three persons. Weight of one person is between the weights
of M and ]. Weight of K is less than N. Weight of O is heavier than N but lighter than L. Weight of L is heavier than
the weight of J.

et ST T e gE® egge HIierg sii A= I 1wl & S dog|

g ATh |, K, L, M, N 3T O 197 TSI &l TAAT T 15 ©, AT STl Agl o ool % § HT T8 gil s AT &I A<k G0
TS o AGI g1 M FT a9, dI SARAT o Fo1 & AT g1 Th STk T a1 M 3T | & a9 & o9 § gl KFT a9, N &
FAT T FH gl O FT a5, N F TSI H AT § AT L F TS & gofl gl L FT a9, | % a1 & 91 2

Q38. How many persons are heavier than J?
ERC AT R IR

(a) Three/ €=

(b) Two/ &1

(c) Four/ 91X

(d) One/t
(e) None of these/Z7H & FIs AT

Q39. If the weight of N is 55kg and the weight of O is 70kg, then what is the possible weight of M?
I N FTIS 55 T & 3% 0 &7 ao1 70 ARy g, T M F7 SS11ad aoi faha«r gem?

(a) 72kg/72 TRt
(b) 54kg/54 T ma
(c) 77kg/77 FFITH
(d) 58kg/58 FFarrmTH
(e) 51kg/51 T

Q40. How many persons between L and J?

L 3% ) & fi= fram safxe 82
(a) None/ &< 5!

(b) One/t=
(c) Two/ &

(d) Three/ 1=
(e) More than three/ &1+ & e

Directions (41-45): Read the following bar graph carefully and answer the questions given below. The
bar graph shows total number of fruit cakes and chocolate cakes sold by five different shops.
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Q41. Find the average number of fruit cakes sold by shops A, B, C and D.

THT A, B, C 3T D ETT 99 T e e T A9 G941 AT HIorg
(a) 78
(b) 75
(c) 72
(d) 66
(e) 68

13 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q42. If the selling price of each fruit cake and chocolate cake sold by shop C is Rs 300 and Rs 200

respectively, then find the ratio of the total selling price of fruit cakes to total selling price chocolate cakes
sold by shop C.

I @ C R 9 U AT e 6 S A1hele heb T (AT o7 HAM: 300 TIT X 200 TIF §, T THH CFRI I
T e &b & B (AT Tod & AThAS heh o A AT HoF & AT AT Q|

(a) 33:25

(b) 31:23

(c) 32:25

(d) 37:29

(e) 39:28

Q43. The number of chocolate cakes sold by shops A and C together is what percentage more or less than
the number of fruit cakes sold by shops D and E together?

THI A 3T C ETT AT a9 T ATohole Fd il G&AT, THI D 3 E ST AT o9 T4 e 9 il §&qT & fohaq wiaera
Ffew AT FAE?

(a) 30%

(b) 28%

(€) 25%

(d) 35%

(e) 40%

Q44. The number of fruit cakes sold by shop X is 25% more than that of shop A, and the number of
chocolate cakes sold by shop E is 60% less than that of shop X. Find the total number of fruit cakes and
chocolate cakes sold by shop X.

TR X G o9 Y | Hidh 1 €&AT, THIT A T 99 T T Fh hl qAqT A 25% AT8F §, A< TH E T 9= TC
FIHAE ok I HGAT, THIT X T oA T ATheAE b il GAT H 60% FH gl THA X T o9 TT K Fah AL Alhoie
e T T AT AT HIT

(a) 230

(b) 270

(c) 240

(d) 250

(e) 260

Q45. The total number of chocolate cakes sold by shops C and B together is how many more or less than
the total number of fruit cakes sold by shops D and C together.

THM C 3T B T AT 99 T ATHaAe i 6l T G&AT, T D 3T C FRT AATHT o Y e Feh il FF G&4T &

ELRIEIEERIED k¥

(a) 10
(b) 25
(c) 20
(d) 15
(e) 35
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Q46. The side of a square is ‘1 + 4’ cm, whose area is twice the area of a right-angle tringle. If the base and
height of the triangle are ‘1+1’ cm and ‘1+8’ cm, respectively, then find the base of the triangle.

T a9 it 9T ']+ 4" Gt 8, et &t Ta a1 (st 6 e T IRET &1 T FBregst 1 smem s S=me wasr:
"1+ 1' FHT ']+ 8' FHT g, AT ST T S AT hiforal

(a) 8 cm /8 THY

(b) 10 cm /10 &Y

(c) 12 cm /12 &Y

(d) 16 cm /16 THY

(e) 9 cm /9 THY

Q47. A started a business with an investment of Rs 1500, and after six months B joined with an investment
of Rs X. If at the end of the year the profit sharing ratio of A to B is 5:3, then find the value of X.

A 1500 T9F & AT F AT Th HETH LE (93T X Fg AgIH a1 B, X TG & [497 & 91 1A g =T AR a6

S H A 3 B T AT ATATHLOT ATATT 5 = 3 §, AT X FT A AT HI11Q)
(a) 1800

(b) 1200

(c) 1500

(d) 1000

(e) 600

Q48. A man goes from points X to Y with a speed of 64 km/hr and returns with a speed of 48 km/hr, he
takes three hours more. Find the distance between X and Y.

T AfE foawg X & Y 7% 64 Forei/eier Y fa & Srar g i< 48 ffi/ser it wfq & ara« srar g, v S& O+ °@e stfgs
A gl X X Y & S it T A1q o
(a) 678 km /678 Tt

(b) 524 km /524 ffy
(c) 484 km /484 Tft
(d) 576 km /576 Tt
(e) 496 km /496 Tt

Q49. A mixture contains 28 litres of milk and water in the ratio of 4:3, respectively. If Y litres of water are
added in the mixture, then the ratio of milk to water becomes 8:7. Find Y.

T Fror 7 28 e & 3 It &7 ST FA: 4 ¢ 3 g e FByor § Y e areit A= S, av g si< Tt #:r

SAUTT 8:7 BT SATQT &1 Y F1d Hiforql
(@)1
(b) 4

()2
(d)3

(e) 6
15 |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q50. A shopkeeper marked an article 60% above its cost price and allowed 20% discount. If he sells the
article for Rs 800, then find the cost price of the article.

T AR T T I S 57 o7 & 60% T8 T iThd (AT a9 20% Fe foam It ag a=g i 800 T §
IFAT g, AT A HT HT G AT i oQ|

(a) Rs 750 / 750 =7

(b) Rs 500 /500 =7

(c) Rs 625 /625 =74

(d) Rs 1000 /1000 &9
(e) Rs 825 /825 &7d

Directions (51-55): Read the following table carefully and answer the questions given below. The table
shows the total number of employees in three different restaurants in four different years.

Years Total number of | Total number of | Total number of
employeesin A | employeesin B | employeesin C

2017 B4 50 27

2018 75 81 60

2019 96 48 35

2020 40 25 58

Rt arfersr 7 samgEs sreaaa AL A N U T ot F A I ATt AT STAT-ST AT J AT SAT-3T
XET H FHATRAT 67 FoT AT 90T T 2

g AT FHIIRG | pEEH=NG | c § Haanar
PIHATET | PIFATEN | P Hd GBI

2017 84 50 2
2018 75 81 60
2019 96 48 35
2020 40 25 58

Q51. The total number of employees in restaurant Bin 2021 is the average number of employees in 2018.
If the ratio of the total number of employees in restaurants A and C together to that in restaurant B in
2021 is 13:9, respectively, then find the total number of employees in restaurants A and C together in
2021.

2021 HXET BH FHATRAT i T HEAT, 2018 F FHATIRAT i irad d&aT g1 I 2021 F X& A ST CH FH=10RAT
HT T GEAT FT AU BH FHATIAT ¥ T 96T & FTATT FAT: 13 : 9 ¢, AT 2021 F & A 30T CH FHATRAT Fit
T AT AT HITSIT

(a) 66

(b) 78

(c) 95

(d) 54

(e) 104
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Q52. The total number of employees in restaurant C in 2016 was X+30. If the average number of
employeesin Cin 2019 and 2016 is 39, then find the value of X.

2016 § T CH FHHATIAT T Tor G417 X+30 1 I 2019 3K 2016 & C H FHATRAT #T sHEd €& 39, ar X
T {19 hiforQ)

(a) 10
(b) 11
(c)13
(d)8

(e) 12

Q53. Find the ratio between the total number of employees in restaurant A in 2018 to the total number
of employees in restaurant C in 2019.

2018 § & A § FHATRAT T T GCAT ST 2019 | &G CH FHATRAT I $A G&AT & S AT AT o7
(a) 12:5

(b)11:9

(c) 15:7

(d) 13:7

(e) 10:17

Q54. Find the difference between the total number of employees in restaurant C in 2017 and 2020
together and the total number of employees in restaurants A and Bin 2018.

2017 3fX 2020 ¥ TH 9T & C H FHATRIAT 61 Fof H&AT TAT 2018 § T& A X B H FHATRIT 1 FoT G&AT &

= < s fiforw
(a) 71
(b) 67
(c) 65
(d) 75
(e) 78

Q55. The total number of employees in restaurant D in 2020 is 25% more than that of in restaurant B in
2019. The total number of employees in restaurant A in 2018 is what percentage that of D in 2020.

2020 ¥ &< D H FHATRAT T FoT AT, 2019 § W& B R FHATAT T T H&AT H 25% AT g1 2018 & ¥&q<i
A ¥ FHATRAT T T €&AT 2020 F &L D F FHATRAT HT Tl G&AT T fohadT Siaera g7

(a) 80%

(b) 125%

(c) 120%

(d) 150%

(e) 75%

Q56. Simple interest on a certain sum at 12% p.a. for five years is Rs 1560. Find the difference between
the simple interest and the principal amount.

T g Tfer 9w 129 It o i & ai= a9l F7 AT AT 1560 TIF G| ATHTT SATST L AL o 19 ST
sTa s
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(a) Rs 940 / 940 =9
(b) Rs 1040 /1040 =9
(c) Rs 840 /840 =T
(d) Rs 1140 /1140 =9
(e) Rs 1240 /1240 &7

Q57.The average of X, Y, and Zis 9, and the difference between Z and X is 5, whichis half of Y. If Z is greater
than X, then find the value of Z.

X, Y 3R Z F7 3 Eq 9 &, TAT Z 3 X 6 A= HT (AT 5 &, T Y FT AT ]| IR Z, X ¥ ST, T Z FT 7 A1q HlITorq|

(@) 9
(b) 10
()12
(d) 11
(e) 7

Q58. The present age of Jerry is 16 years more than that of Tom, while four years hence the ratio of Jerry
to Tom will be 11:7, respectively. Find the present age of Jerry.

R A FAATT AL T T AL F 16 T ATe §, ST AT AW a1 ST I T 6T QAT /79T 11 1 7 1 STG HG
T AAHT A A1 AT

(a) 40 years /40 T

(b) 44 years /44 T

(c) 24 years /24 T

(d) 32 years /32 T

(e) 36 years /36 a9

Q59. A can complete a work in 15 days, while A and B together can complete 3/5th of the work in 4 days.
In how many days B alone can complete the whole work?

A Treft 1 7 15 o1 ® 0 FTaaT €, STt A 3i< B @ SHT 1 7 3 /5371 AT 4 A7 § U ST aSd g1 B 3Tt

QX A T v feAT § QT S qhaT 827
(a) 10
(b) 12

(7
(d) 5
(e) 15

Q60. B has 78% more chocolates than that of A. If the total number of chocolates B has is 89, then find the
total number of chocolates A has.

B % qT9 A &Y TAAT # 78% HATHF AlFheie g1 ITT B ¥ I AlhaAe] il Hof GEAT 89 g, AT A % TTH Aldeiel il T G&dT
T fifsm

18 |
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(a) 68
(b) 100
()70
(d) 35
(e) 50

Directions (61-65): In each of these questions a number series is given. In each series only one number
is wrong. Find out the wrong number.

TTH § TAF T | T AT I &1 TS 5| TAF H@AT A Had Th 4&qT IAq gl TAq €647 A1d Hiogl

Q61.8,27, 125, 343, 121, 2197, 4913
(a) 27

(b) 121

(c)8

(d) 343

(e) 4913

Q62. 3264, 1632, 816, 408, 206, 102, 51
(a) 206

(b) 102

(c) 816

(d) 1632

(e) 51

Q63. 20, 41, 83, 167, 335, 670, 1343
(a) 20

(b) 83

(c) 41

(d) 167

(e) 670

Q64. 203, 186, 169, 152, 135, 118, 104
(a) 186
(b) 169
(c) 203
(d) 104
(e) 135

Q65. 27, 54, 108, 214, 432, 864, 1728
(a) 1728

(b) 214

(c) 432

(d) 108

(e) 54

Directions (66-80): What will come in the place of question (?) mark in following the question:

AT v & v e (2) F e T s

19 |
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7+3 5 _ 24
Q66 B 15 15
(a) 8/3
(b) 11/3
(c) 10/3
(d)7/3
(e) 2/3

1 1 1 1
- (= - =7
e Pl R i

Q68.
2ofl of 2 0f2526 =7
-] 7 24
2526 T — T2 HT 2 =2

24 7 =]

(a) 2105

(b) 2115

(c) 2125

(d) 2135
(e) 2145

Q69. 52 + 132 - 112 +52= (2)?
(a) 4
(b) 5
(7
(d)3
(e)8
114 252 22 28 19
Q70.333 1215 T 7
(a) 4.25
(b) 18.25
() 16.25
(d) 2.25
() 8.25

20 |
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Q71. (19)* — 23 x 12 =7+ 256 + 4°

(@) 9

(b) 11
(c) 15
(d) 17
(e) 21

072 J (587 + 638) + 25+7= 2828 + 7

(a) 356
(b) 397
(c) 291
(d) 277
(e) 241

Q73.

429 of 800 + == = (19)2
800 &I 4206 + —— = (19)?
(a) 27

(b) 25

(c) 50

(d) 75

(e) 29

7 13 a0
Q74. 2 260 ' 480
(a) 13/30
(b) 17/30
(c) 19/30
(d) 23/30
(e) 29/30

Q75.

182 4 W% or200 _ 17

200 T 400 17
I

18°

(a) 22
(b)1/20
(c) 20
(d)1/22
(e) 17

21 |
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Q76.

3 80 7
3@375 52 2
(@) 1/9
(b) 2/9
(c)3/8
(d)5/8
(e)1/8

Q77.
gof 180 + 82 =7 —24

180 &T §+ 82 =7 24

(a) 189
(b) 198
(c) 188
(d) 199
(e) 182

Q78. 318+980-224-540=?
(a) 555
(b) 502
(c) 598
(d) 448
(e) 534

() 2/5
(b) 1/5
(c)3/5
(d) 4/5
(e) 8/5

Q80.
12% — 728 =7+33.33% of 69

12% — 728 =74 69 & 33.33%

(a) 879
(b) 977
(c) 589
(d) 677
(e) 1288

22 |
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S1. Ans.(d)
Sol. sfaw saaeT:

U 3% X T g, 977 Teft =i Ush-ga e & ada a5 8

S2. Ans.(c)
Sol. sifaw =rarea:

S3. Ans.(a)
Sol. ifaw =Ta=em:
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S4. Ans.(e)
Sol. I =Ta=a:

$5. Ans.(d)
Sol. A =Ta=a:

S6. Ans.(d)
S7. Ans.(e)
$8. Ans.(e)
S9. Ans.(a)
$10. Ans.(b)

S11. Ans.(e)
Sol. T: T I 2|

I —I —
52786435

I '
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$12. Ans.(c)
Sol. TaH sTaeT:
Hord Tex | ey
$13. Ans.(d)
Sol. TaH sTaeT:
Hierd TeX | WeyY

K T greae, 317 avft =7f<p faow e areft @i 7w w=a g

$14. Ans.(c)
Sol. sifaw =rarea:

Hiforet wex | WeyY
$15. Ans.(d)
Sol. sifaw =garea:

uiord | wex | Wiey

1 E L

$16. Ans.(d)

Sol. 3ifaw =aeT:
ifod | wmex | wey
H F
G K
E L

3
2
1
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$17. Ans.(c)
Sol. I =Ta=am:

12m

Gm

SN A

ﬁ_ﬁj E 14m

$18. Ans.(d)
Sol. I =Ta=am:

12m

$19. Ans.(c)
Sol. A =Taea:

12m

G
Bm

ARl A

ﬁg E 14m

$20. Ans.(b)

18m

18m

18m

Sol. 31eTT- A, B, 1 3fT S =T TIT 7k

T |1 ore= : Bias

$21. Ans.(b)
$22. Ans.(d)
$23. Ans.(c)
S24. Ans.(e)

S$25. Ans.(e)
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$26. Ans.(c)
Sol. 412576893 = 503467982

ABT 7 § SATEIT Fed I¥: 023456789

S27. Ans.(b)
Sol.

S EDICD

$28. Ans.(d)
Sol.

O

$29. Ans.(e)
Sol.

B GBED

$30. Ans.(d)
Sol. gt T% 7 :
DRIV

+2l2 l+2l2 +2

$31. Ans.(d)
Sol. sifaw ZrEeaT 7Rt B

I N I O B
B E A DG C F
$32. Ans.(c)
Sol. S{faw =ra&T AT 2:

I R I R
B E A DG C F

27 |
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$33. Ans.(a)
Sol. ST ZEeaT 7Bl 3

| | I | L1 I
B E A DG C F
S$34. Ans.(d)
Sol. STIw ZaeaT 78T 2

| | I | | I
B E A DG C F
$35. Ans.(b)
Sol. ST ZrEeaT 7Rl B

1 1 1 1 | |
B E A D G C F

Teh- TgeAT S Teh, AL AT & T2 AT gAY T 97 927 g
$36. Ans.(a)
$37. Ans.(c)

$38. Ans.(c)
Sol. sifaw == A7 &
L>0>M>N>]>K

$39. Ans.(d)
Sol. sifaw == A7 &
L>0>M>N>]>K

$40. Ans.(d)
Sol. sifaw =g A7  &:
L>0>M>N>]>K

S$41. Ans.(b)
Sol.

Wmﬂ= 36+E-6-|:'8+12ID = 75

S42. Ans.(e)
Sol. T STqTd = 300x78 :200x84=39:28
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S$43. Ans.(a)
Sol.

GO A 3R ¢ GRI T U dideic b bl YT = 42+84 = 126
G@ D R E GRI T 9y a7 pE bh DI Y- = 120 + 60 = 180
31T TR = === x 100 = 30%

S44. Ans.(b)
Sol.

G X BRI U Ihe thahl o] YW1 = 222 x 36 = 45

100

X BRI g U didhele b bl 9T = 22 x 100 = 225
40
313-“5 E”'|=41-5 + 225 =270

$45. Ans.(d)

Sol. THTT C 3T B FTT I+ T ATFele 6k #hl Fof H&dT = 99+84=183
AT D #lI¥ C GTT o= T e e il T 9T = 78 + 120 = 198
sl siqe =198 - 183 =15

$46. Ans.(e)
Sol.
a1 BB = (1 + 4)2 = (I + 16 + 81) T I

ATQ,
(P+16+8)=2 (%x(£+1)><(£+8])

+16+8l=1+91+8
g=1

o BT MR = 1+1
=g+1=9THl

S$47. Ans.(a)
Sol.

ATQ,

1500 x 12 5

X X6 3
X = 1800

$48. Ans.(d)

Sol.

AT X R Y & &l BT gl D [t g
ATQ,

D D

___23

48 64

4D —3D _

192

D = 576 b Al
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$49. Ans.(c)
Sol

T;,:%I-EﬁFFIﬂT:sz: 16 TleX
Ul &1 AT = 28 x 2 = 12 7dIR

$50. Ans.(c)
Sol.

HHE %4 J 100 39U §
3ifehd Heh = 100a x 222 = 160a TH

100

fasha BT = 160a x 2= = 1280 3

ATQ,
128a = 800
a = 6.25

3 f1¥ ge = 6.25 x 100 = 625 T

S$51. Ans.(e)
Sol.

2021 H R B H pHaRal bl o g = 2222 — 75
2021 HYERT 4 3R ¢ H TP 1Y HHARG B Pof W& =2 x 13 = 104

$52. Ans.(c)
Sol

2019 3R 2016 H ¢ H HHAIRAl ] el G = 39 x 2 = 78
2016 T &R ¢ H HHAINAl D1 pdl YT = 78 — 35 = 43

ATQ,
X+30=43
X=43-30
X =13

$53. Ans.(c)

Sol. T¥TE s = 75 : 35 = 15:7

S$54. Ans.(a)
Sol. 2017 =¥ 2020 H TF AT ¥Fq<( C H FHATAT #l Fof §&AT = 27 + 58 = 85

2018 H YT A 3T B H FHATAT 6l Fof &7 = 75 + 81 = 156
arfie ofdv = 156 - 85 =71

30 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A

Addal247/

GET IT ON
Google Play

$55. Ans.(b)
Sol.

2020 H T&RT D A HHARE! BT HA T =2 x 48 = 60
HHIP A= = 2= x 100 = 125%

=[]

S56. Ans.(b)
Sol.

M elsH x T
ATQ.

xX 12X 5
1560 =
100

x = 2600
3HlF 3 = 2600 — 1560 = 1040 SUY

$57. Ans.(d)

Sol. {297 3T, X+Y+Z=9x3
X+Y+7Z=27..(1)

T

Z-X=5

Z=X+5

Y=5%x2=10

(i) ® Z T Y F AT &7 T@ 9T
X+X+5+10=27

2X=12

X=6
So,Z=X+5=6+5=11

$58. Ans.(a)

Sol. ATAT ST 3ii¥ =19 T aq | o FA: (11x-4) 9 7 (7x-4) q9 &
ATQ,

(11x-4)-(7x-4)=16

11x-7x=16

x=4

af1e o = 11x-4 =11x4-4=40 T9

$59. Ans.(b)
Sol.

AR BPAPH QIR TDA G =4 x> =2 e

&d DA (20/3 AR 15 B dGdH GHMUGH) = 60 3Pl
AT EAA =2 = 4 3IR/faT

15

A SR B Bl Ugad &HdT = o7 = 9 FDT5/Me

Eaﬂmﬂng—-@:saﬂﬁfﬁq
siEféa === 12féA
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$60. Ans.(e)
Sol.

HMFT A & U9 didae & Y%7 100a &
3R didhcle B B U = 100a X —=& = 178a

100
ATQ,

178a = 89
1

a=—
2
aﬁaﬁaﬁm‘{m:mnx;:sn

S61. Ans.(b)
Sol. TeTq =47 =121

GAT FT T2 =0 THE &

8, 27, 125, 343, 1331, 2197, 4913

2% 3% 53 73 113 133 173

S$62. Ans.(a)
Sol. T H%&4T = 206

EAT FT T2 =0 THE &
3264, 1632, 816, 408, 204, 102, 51

+2 =+ 2 + 2 + 2 +2 =2

$63. Ans.(e)
Sol. Id H&AT = 670

TG HT Tt TH THE &
20, 41, 83, 167, 335, 671, 1343

x2+1 X241 xX2+1 xX2+1 xX2+1 x2+1

S64. Ans.(d)
Sol. ITTd 94T = 104

TGAT & T =0 THT &
203-17=186
186-17=169
169-17=152
152-17=135
135-17=118
135-17=101
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$65. Ans.(b)
Sol. T 94T = 214

JGAT HT Ted =0 THhE &

27, 54, 108, 2186, 432,

x 2 x 2 x 2 X2

$66. Ans.(c)
Sol.

?-|-3_34-—5

5 15
7+3 19

5 15

$67. Ans.(a)
Sol.

51+91 61+41—7

4 "3 "6 2 °
3+4—-246

{5+9—6+@(——75——J=?

11
7=12—
12

$68. Ans.(a)
Sol.
5X8X21%2526 _

63 7% 24
2105 =7

?

$69. Ans.(b)

Sol. 52+ 132 - 112 +52=(7)3
25+169-121+52=(?7)3
125=(7)3

5=?

$70. Ans.(e)

Sol.
114 252 22 _ 28 19

333 121 9 37 7
8.25 =7

x 2

864,

x2

1728
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§$71. Ans.(a)
Sol.

(19)* — 23 x 12 =77+ 256 + 47
361 — 276 =774+ 4

81 =72

7=09

§72. Ans.(b)
Sol.

J (587 + 638) + 2547 = 2828 + 7
J (1225 + 2547 = 404

V4947 = 404
7= 397

$73. Ans.(e)

Sol.

22 %800+ =361
100 )

725

7

=361 — 336
725
25
?7=29

7=

S$74. Ans.(a)
Sol.
? 13 80
| -I— N
260 480
1 1

=— 4+ -
20 o
6+ 20

120
26

T 120
i3

A Bd | ed bd| eabd |od B|

(3]
=

$75. Ans.(b)
Sol.

2007 40% 17

5 ?
17
324+16=—
1/20 =7

82
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§$76. Ans.(e)
Sol.

3 « 25 7
1580 2
1

— =7

3
$77. Ans.(c)
Sol.

> 2
1803 _ + 8% =724

5
5 »x 180 + 64 =724
188 =7

$78. Ans.(e)
Sol. 1298-764=?
534=?

$79. Ans.(a)
Sol.
224 7

— X—=5x7?
49 16

Z =2

5

$80. Ans.(b)

Sol. 1728-728=7+23
1000-23=?

977=?
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